RETTEAER WA A0 ﬂ FTEIUR
L

Panasonic &R ESH . mean
BER=%E B e RS ex-3[1][1]2[3]4]-[5]-[6]-
GX-300%5 [1]:RF(08:M8,12:M12,18:M18,30:M30 ) El ARV 85 )
MC-GX3ML No.0096-41V [3] LI [ 4 |44 BE B (AR, KKEES)

[ 5 [ ¢EaA N.O.($FFE), BN.C.(3 R)]
[ 6 |4t (N:NPN,P:PNP )
SEEFT (T ARE2ME LSS, CoARAEDMEE 48 R 25 #h2mEE 45 RO &5 fh5mER 45, J: h 4k 188 Z: B I 45 38)

1 & RIS & W S Panasonic ™ o
uaﬁ‘im ST ¥ Hh 8 R UL {5 A AR B B E 7, S IR A UL 7
fho IBIEMEREABRERTF 5 zku@k BWEK.

E_Z-tl:
* R
o BARAS uﬂ’ﬁjg)djs{%?}ﬂﬁﬁﬂ’]#ﬁ,ﬂlj B, % F | 6x-308M-A GX-312M-A GX-318M-A GX-330M-A | GX-308MK-A | GX-312MK-A | GX-318MK-A | GX-330MK-A
OEﬂfﬁu)\Wf%jFﬂEE‘]E’QL/M FEERAFE (B42: mm) il gt ;
OSHA ANSIE IECE % ] AR I 2 5= = B G B = SR EA SE B % W ®| Gx-308M-B GX-312M-B GX-318M-B GX-330M-B | GX-308MK-B | GX-312MK-B | GX-318MK-B | GX-330MK-B
fho S (BEHE) alds alat % b 55 ® | 15mm=10% | 2mm=10% 5mm+10% | 10mm=10% | 2mm=10% 4mm = 10% 8mm=10% | 15mm=10%
o HHREMNBK, B2EAACER L|d m|nil d|D m|n . —
° 1%&-[&;5%%’ %E/_:Lﬁgg/ﬂﬂ(iﬁ—lt1§};ﬁo GX-308M 0 8 45|12 | 0 8 0 [45]12 i’ f jis) % [ Omm ~ 1.2mm | Omm ~ 1.6mm | Omm ~ 4mm Omm ~ 8mm | Omm ~ 1.6mm | Omm ~ 3.2mm | Omm ~ 6.4mm | Omm ~ 12mm
o 3 . GX312M 0ol121 8 18| 0 12| 0 8 | 18 AN Y K (%) Somx8mmximm | 12mmx12mmxfmm | 18mmx 18mmximm | 30mmx30mmximm | 8mmx8mmximm | 12mmx12mmximm | 24mmx24mmximm | 45mmx45mmx imm
n *L@/*WJZE *L@/*EIJZE GX-318M 0ol18]20 27| 0 |18] 0 | 20|27 )52 E HMEEEM10% AT HMBEEA15% AT
© AP E T AR GX330M | 0 |30 |40 45| 0 |30 | 0 | 40 |45 = B % & DC10V~ 30V 2364 (p-p ) 10%,Class2
<ﬁﬂ:j5/7\ / ﬁﬁ/\/ﬁlﬁ GX308MK | 0 | 8 |45|12| 0 | 8 | 0 |45] 12 ®  m N B TomANT
EFU};'_'E"L'EE“:\I/ICC?EHZ"ZZOJ'I“GI%O(SSE GX-312MK 01811218 |24|18 24| 12 | 18 Lo H # =® GX-3[J-(-P-[] : PNPFF B B4R B4, GX-3[-[1-N-] : NPNFFBE R e R @ 1A e
REFLE: hE CX18MK 0 127 |24 | 27 |36 | 27 |36 24 | 27 DC10V ~ 30V Class2,200mALL DC10V ~ 30V Class2,200mALL
- EAIE - : : . FAAEE [GX-308M:DC10V~30V Class2,200mAX T (-40°C ~+70°CHt ) , [GX-308MK:DC10V ~ 30V Class2,200mAIX T (-40°C ~+70°CH ) ,
EN IEC 60947-5-2:2020 GX-330MK 0 |45 |45 45| 6 | 45| 6 | 45 | 45 I I 100mAIX T (+70°C ~+85°CHY ) | 100mAIX T (+70°C ~+85°CHY ) |
’ F o E 2VIUTR ( % E8375200mA, B 45K 2mET ) 2VIUTR ( % e 375200mA, B 45K 2mET )
E FEEIR s Gpgm | XRIEA RETTEB 2 ® B = GX3T-A-CI-] - NO. (A7), GX-30-B-0-1 - NC. [ HE )
Llid|m|n|1]d|[D|[m]|n EEEEE ) 2,000Hz 1,500Hz 600Hz | 400Hz | 1500Hz | 1000z |  500Hz |  250Hz
o AFERENETWINER{ERNBOmTR, HEN~H. GX-308ML | 6 |24 | 8 |24 6 |24 | 6 |8 |24 TR A R IO (SIOR) ., #IHETAI (B E/5K) BB T (R E/8T)
« EPETRBEGER, GX-312ML 11 140 120 136 15 40 |15 | 20 |36 10-Link#8 3, FHEHSRAT (I G /EAT), BIEIE R AT (R E/INIF(1s B )
- FSNEESEST, EIEEMN/SIKESSMER, AR, FRaE R A, IEC6052014% IP67,1SO 206534114 (RDINATIE40050 PARTQ) IPE9K JIS C 0920 fit %1 IP67G,
e GX-318ML | 18 | 55 | 40 | 54 | 22 | 55 | 22 | 40 | 54 #® i # #® EE SRR, IECE052041H% IP67,1SO 20653414% (ADINAIAE40050 PARTY) IP69K
%Jﬁzﬁﬁ’ %imﬁ?ﬂ ARG TR GX-330ML [ 25 |90 | 70 | 90 | 30 | 90 | 30 | 70 | 90 2HLFR: Typet (UL 50)
- B SERET, - 7 '
c EEFEBRESNBEEAEE, BREREE, K GX-308MLK | o [24| 8 [24 [ 12|24 [12] 8 |24 = 2 x 3
ﬁ#ﬂ/@?ﬁiﬁ%ﬁfgﬂﬁﬁﬁﬂg lﬁé%—‘;}_ﬁiﬁi}ﬂ’i@& GX-312MLK | 11 | 40 | 20 [ 40 | 15| 40 | 15 | 20 | 40 g R A po Cz'oszmﬁ;# SRR (52)
- BEBRY%, IHEASEEAANRANRER—RENRE . i B ol 1 RAF: -40°C~+85°C ( REOK L4&ER ) (I
CEEE, N2SE T, BoESRRH AR GX-318MLK | 21| 70 |48 | 70 | 25 | 70 | 25 | 48 | 70 A B = =& e (AT . 35% ~ 95%RH (4T )
IR, BOEN R ESIIERE, GX-330MLK 40 [120] 90 120 45 | 120 45 | 90 |120 el % & 31 50MQ XL ( FADC500V3kF R ) FE e 2pFoh5E[E
- TEERAVEIRAORETERN, BEFUTERSE, SUE HETS 5 #| sussos | HREER | susss | HEEE
ABs P Lk /7]
SR mERASHME, z #t AT EE BXE_FHT _HE (PBT)
- B KR NI - = — . nz
Lol . - o B2 E BRI A R AR S I S HES RS, BT TR i) % BRI (PVC)
« WAFRERFHROHTNANSENABRNTR. HRFAELE BN EOTETFER, & . 0.2mm?*3i57it 3 ¢ 4 0.2mm*3 575 ¢ 6 0.2mm?*3i57it 3 ¢ 4 0.2mm*3:57if 5 ¢ 6
ﬁﬁﬁmfx%iﬂ)fﬁ?ﬂ’t}]é wmER, 2HEHER > 1B (33) BEE (14) B (53) BEE (14)
. 1ﬁ@1ifﬁ%$¢%ﬂx/ﬁ 7, \WJT [ uaﬂ%ﬁiﬁﬂco rmmth ||i||'|||||| |'i|||||||'| 10-Linki& = # # (z5) 10-Linkft#%:Ver.1.1, {41 £ :COM3(230.4kbps), PD A /\:2byte, 0D /)x: 1byte (M-sequence type:TYPE2_2)
+ BIREA\MA R TR R B0 K 8 RO ¥ U L Ht #* ZERE2 IR, BEHLLE, 1BGER)
7S R A300ms, WATREEEA, RUNERT R bad [y ———
EBQFTEE?% A;;g%mmajm/mm §4813300ms, BEL LHDH[HI]D— (r2) 5 B ULS BT 525 - +70°C,
RN 1’ o (533 ) BSHHE-RMHLFNH0.2mm’ 3T th O 4R R EB YL
. s B 35 (534 ) BSHHE-RMHLFRH0.2mm’ 3T th © 61R R B Y.
: E%EEQEEF ﬁﬁ% ;;?_%}i j:”‘“ﬁ BB AL ! (35 ) PNPS i KINCEIFINPN 604 2 B % 10-Link.
. uaﬁﬁﬁ??z%ﬁmﬁﬁr/elmﬁﬁﬁ IR EE (Sfr: mm) e 3 e
.E’] BE, WoTsSBURE, Q HRE Bﬁl f&o BIS(F#REY) A B B S (IR E) A B w _|% 7 ®| GX-308ML-A | GX-312ML-A | GX-318ML-A | GX-330ML-A | GX-308MLK-A | GX-312MLK-A | GX-318MLK-A | GX-330MLK-A
: :g]; BIRRIE, NSRRI, BN R SHIRA LR GX-308M(K) | 20 | 15 GX-308ML(K) | 80 | 60 "% i m| oX-308MLB | GX-312ML-B | GX-318ML-B | GX-330ML-B | GX-308MLK-B | GX-312MLK-B | GX-318MLK-B | GX-330MLK-B
o
o EMERAS TEREEEBERN, T SBRNIBITHRIR, GX-312M(K) 30 20 GX-312ML(K) | 120 | 100 e R B8 B 2mm=10% 5mm = 10% 10mm+10% | 18mm=10% 4mm = 10% 8mm = 10% 16mm+10% | 30mm:10%
%gﬁ%@'rﬁr 1?75?’@2&‘31?”)\1}\'%&0 oy T GX-318M 50 35 GX-318ML 200 110 & E il # | Omm ~ 1.6mm | Omm ~ 4mm Omm ~ 8mm Omm ~14.4mm | Omm ~ 3.2mm | Omm ~ 6.4mm | Omm ~ 12.8mm | Omm ~ 24mm
- 1A, 15?%)3?%%%{%?&%%’ [//{%,\Q%—Xxfﬁ\o - " GX-318MK 60 35 GX-318MLK 200 | 120 BROE A W M A (% )| Somx8mmxtmm | 15mmx15mmximm | 30mmx30mmx fmm | S4mmx54mmx fmm | 12mmx12mmxmm | 24mmx 24mmx Amm | 48mm>x48mm>x fmm | 90mmx 90mm x fmm
o WTEBEERIMPLIERERE, 1EFIART ISR EY ; o - —
BIHNAR o Ex*‘tﬁﬂ?%%ﬂﬁ}%%%%éﬁ%ﬂ’}%ﬂ@%iﬁqlﬁﬁﬁo GX-330M 100 70 GX-330ML 300 | 200 o3 = HRNBEEEAI10%IAT HMFEEA15% MU T
c BEHRREG TSRS B AE S s R R T gk iR GX-330MK | 110 | 90 GX-330MLK | 350 | 300 R 8 2K DC10V ~ 30V £10%(p-p)i&ah Class2
B BRERBRP TR, @ R A 16mAIL T
« ZEIO-Link#EX T, 1EHRIO-Link Master5 1% &2 = |84 REFLIN TR R AR W owm # R GX-301-1-P-C] : PNPFFBA S 4R @ ¢, GX-300-C)-N-C : NPNFFEA R iR B A
SHKEE20mIU T, o DC10V ~ 30V Class2,200mAIL T DC10V ~ 30V Class2,200mAI T
(Bfi; mm) F A B | [GX-308ML:DC10V ~30VClass2,200mALLT (-40°C ~+70°CEd ) , [GX-308MLK:DC10V ~ 30V Class2,200mAIL T (-40°C ~ +70°CES ) ,
/OB ERE ; WS F 3 # £ 100mAILTS ( +70°C ~ +85°CEd ) ] 100mAIL T ( +70°C ~ +85°CEd ) ]
=
RO (SIOH) (;6;(5%%8#65()) 085 °°| 13 . - ﬁu*; e i 2V ( ﬁzﬁz%mzooziif;&izgm? I — DZ\:\,LXCT(( ﬁ‘i?,)umZOOmA  S4AK2miv )
y . A -30-A-C-00: N.O. (&2 ) ,GX-300-B-0J-J: N.C. (HAZE
|1’E%J%i§i1§!€2%§ﬁﬁﬂa‘ HEOEIOER (SIORR) B F 1F. | g){??zzl\,lnl_((lf()) $1257%| 17 ) 1,000Hz 800Hz |  400Hz | 100Hz | 1,000Hz | 800Hz |  400Hz |  100Hz
- . 0
¥ ¥ G oA He = FOEI/ORE (SIORR): FEFERAT (B E/FKT), BISIET AT (RE/MELT)
i OO0V Cosz NN ooy 00 Cas GX-318M(K) 185 75| 24 TEREEFN IO-Linkit, 3 FEHE R AT(B B/3EAT) I8 12 AT (52 U (15T )
:»-¢ - GX-318ML(K) : BYSE, RAEE SRR, IEC60520MM% IP67,1SO 2065374 (EDINFL 40050 PART9) IP69K,JIS C 0920 Hif %1 IP67G,
: GX-330M(K) $30.5 05| ap *® b L& & HiEEERE, IEC6052941#% IP67,ISO 20653#14% (FRDIN#14£40050 PART9) IP69K
L GX-330ML(K) 0 £HUF: Typet (UL 50)
FRE 5 # -4 3
L | 5 BinjEa=] iﬁ % 2,000miAT
£ !K/S A 2] R ) 4 TAERS,RTFE: -40°C ~+85°C ( T4k, E4ETE ) (732)
SO o R BARE A &3 i i 4 TR 570 %35% ~95%RH ( T4 )
SR, A = | ] H B % % & [ 50MQ )| ( FADC500V3kEk ) FE apfnshscia)
(31) -A; 4,B; 2 | 5 %| sussos | HARE [ sussos | HAEE
|O-LinkiB {25t ( COMAEE ) %) T o # B W S BXWAZHERT & (PBT)
)= | 5 2 s g
- ——— - . T — 2
WRAR: GX-300M(K)-A-P,GX-3CIML(K)-A-P b N % 0.2mm 35t ¢ 4 0.2mm’3iE5Tit i ¢ 6 ‘ 0.2mm 385t ¢ 4 0.2mm’3iE5it i ¢ 6
(PNP4 i FINCAIFINPNE #9542 8 AR % H410-Link., ) NO._ T wmmne - B (33) B (4) B4 (33) B (4)
| Eg 10-Linki® {5 # 1§ ¢35 10-Linkft#%:Ver.1.1, 5 4% £ :COM3(230.4kbps),PD A /)v:2byte, OD A /)\: 1byte (M-sequence type: TYPE2_2)
O s B _ e o i #* EEEE 2 (EARE), B EHALE, KRR
(sio) M e (3E1 ) MR AT AME,
xa (332) sk BB RMULR B H-25C ~+70C,
NC. (D s (533 ) BLSchis-REHLINH0.2mm? 35S O44R R BB 4L,
i (¥4 ) B hE5-RAYLHH0.2mm? 35725 i OBIRR B4,
s I B (335) PNP#tH #INCEUFINPNE) th 9P AL S R #510-Link,
PSRRI
(1sE)
" SRE(&A: mm)
b2l .y N M. mm
No Y et El {MER B (8L
BEAOEHEE O-Linkiit O o AR/ th ks R Al EEE AT
5D ARAEIE FE AR (COM)(E1) W ) B ‘ B
CN-24S %37 (1s/) D C D
@ @ v, | T L F F
® on Ef &y
out ——
S ) T
23
n ﬁ{é (5%1) —I%L_IO -Linki@ (S P1kah iR, s
= BIIO-LinkiBE™T LUK BH L AE R 8L, 10-LinkiBEIRE¥HAN R, 1F
RERE GX-300 INDEXLIST, : |
- ZESHHIEPANEKR, ZEAMESMEREREE, A ERERIREIOE(SI0)0-LinkiE i8]

BRERRETRNEERZUT, R AGTAT
. ’}ETEM@Z%D@%EE’JEE%TLE. %ﬁfrﬁiﬁﬁﬁﬁﬂﬂo EIAZR R BED LEDER [ POV (e . 5e)
NEERFRENTRAR, (ADNSEERZMELTURE TR (7%1)
FRRT Hik, BEMERT, hOERNGES. R, B B &
2 & & N -
R s G R TEREEENARE JEEEFEESH/S
AREEY ° TRNE | GEERFABEE. | BREERE, U A Bl ¢C |DJEJFJGHIT]Y
<RRE> <EREE> 1HET§Q1§,\,%§O GX-312M(K) | M12x1 | 48 |M12x1|33 | - | 12| 4 | 4 | 21|17
W35t S B B RtF | IRAT | gk £ 5558, 1H§¥ﬁifﬁ7§ﬁ#’§& GX-318M(K) | M18x1 | 53 | M12x1|38 | - | 12| 4 | 4 |29 |24
‘ i i M O == Py ra— %% &%'w GX-330M(K) [M30x15] 58 |M12x1]43| - [12| 4 | 5 42|36
it it e i THET ISR | BIZIO-LinkBES A |ERTAGIESHREH PR SRR BRI
ap B AR B (AR S5 Hidm) H B &E BREERE T SERRED)
B--ax sap--a RIUEINZ . ks A |[B| C |[DJE[F[G[H[T]J
ES RS BIRNESI2, GX-312LM(K) | M12x1 | 48 | m12x1[33| 7 [10] - | 4 [21] 17
(3E1) IRHREZIL0.3s s GX-318ML(K) | M18x1 | 53 | M12x1 |38 | 10 | 10 412924
#4 0.3m
= = = = GX-330ML  [M30x15| 58 | M12x1 |43 |13 |10 5 | 42|36
0 r8 o8 FRPEEYRNETRAE 2 =
(FH#EY) R5H(mm) o8 3 (4445) 3B ($545) P FE a0 GX-330MLK [M30x1.5| 80 | M12x1 |65 | 15| 10 5 |42 |36
GX-308M(K) 9 ON -m 12N - m - " i PR Rsv— A B|C|D|E|F|G|H|I|J CHE)MBRVRE & HiE IR,
GX-312M(K) R 30N - m R %(Pb; K(Hg) | %E(Cd) ((;jg,ﬁ) %’F’,%Bﬁé)zs %ﬁiﬁﬁi GX-308M(K) | M8x1 |37.8|44 |26 - [10| 4 |3 [15]13
GX-318M(K) R 70N - m AR x | x [¢) 5 o o [ GX-312M(K) | M12x1 [47.1|37 |33| - [12] 4 | 4 |21 |17
GX-330M(K) N 180N - m ShBEERIECK) | x | O o e} e} o e} GX-318M(K) | M18x1 [553| 85 38| - |12 | 4 | 4 | 29|24
BREMT O | O €] O ¢} O o GX-330M(K) | M30x1.5 [60.3| 83 [43| - |12 | 4 | 5 |42 36
- . A: GX-312M[)/318M1/330M[]. B: GX-308M[]
L] AR il RAEHARIBSIT 11364053 E R H. BS(ERKE)
(1&%&&&) R~F(mm) 3 (4448) WEF(H4E) O : RFIZBEVRE LI FTE MR & BI7EGB/T 26572 L E R EE A B|C|D|E|F|[G|H|I|J
GX-308ML(K) 3 9N - m 12N+ m « ngigwﬁg}ﬁ%ﬁwm; SR A BRI GBIT 26572512 1 GX-308ML(K) | M8x1 [37.8|44 |26|6 |8 | -|3|15]13
GX-312ML(K) - 30N - m PR GX-312ML(K) | M12x1 |474| 37 (33| 7 [10| - | 4 |21 |17 %U\iﬁ' */\—F*J'LEEJ;;Eﬁ/_\‘i
g _ . () SMEEPEEITSNTI R A, S R T, B S L ¥ _ =/ T4 =7
GX-318ML(K) 70N - m ﬁﬂ?fhm?ifi;k%% i & @ GX-318ML(K) | M18x1 |553| 85 |38 |10 | 10 4 | 29|24 i - B AKIRATT BT K E1006E
GX-330ML(K) - 180N - m <HEBEX> d GX-330ML | M30x1.5 |60.3| 83 | 43|13 10| - | 5 4236 https://industry.panasonic.com/
FL1Q(2015%:12 8 4£7*) GX-330MLK | M30x1.5 |82.3| 83 | 65|15 10| - | 5 | 42|36 3 B /N 52 NI
#Ors: A TEEERHE =]
X EE S BRI AIIMBEAICER) - - - - - Ha2R) " EP@(E@)Laag%‘%z*:tsigﬁ?;!)ffﬁggw
BBIA(10%F) B(114E),C(126) « -« - - JU9F] 7 B10ERK ! e = AeE |
- RERFEBEN, AT TRITRIEN FOTETER, (0 (218 202258) - slesl - REEER [(BXBEAARBENS, BERAATWE
- ERBREN, BEAIVNHNRERMEEGEE, Panasonic Industry Co., Ltd. 2024

© IHNESRESHESTH R, BSHEEESHIMNERT, 20244 KT FEENR



e H 7o+ Xx5—4(PD) A2F s R|$T427 902 5 B R | V2777 o x -y k| Fon g | A BERE i
Panasonic By % = 000
0x01 : Mode1 (F&E#R /iR |Process Data %X
GX-300> ') — % 7 [ e [ 5 [ a3 [ 2 [1]o 163 0 SHE— FRE rRW| O Ulnteger | 1byte | O0x01 |i&H &3 + BbitDHEAEH
-300>!) —X oo |E= 57 801 002 : Mode? (R A3) |125 Y FT.
—_ T U U DB EE8Dit(0~255) THAT 5. 0x03 : Mode3 GBHIAHH B2
~
AVTYIR)A R
1 PD1 -
@ IO-Link o By BT @
. 9
MC-GX3ML No.0096-41 Tl T3 2[10] smagr |0 OFF 164 0 BRI EARE RW| © Uinteger | tbyte | 0x01 | X037 508 0% (£2)
— 1:0N 0x05 : SUS 30%
10-Link&%E 7 7 4 JL (IODD) IS D LN T I, [#£1t Web+ e 0 0x06: 7L S 10%
. K AT . = 209
4 b : https://industry.panasonic.com/ 1A 54 >0 =P o Ox07: 7S 20%
—RLTLFEE, 165 0 U NEGREADE (BR1E) R - Integer 2byte - 0 ~ 4095 (3%3)
= ° ElE 0
4 = = EEETEE
N - 166 0 e #BREADIE R - Int 2byte - 0 ~ 4095 (%3
- BUT— K8 EAMode! £ 7= [EMode2 ¥ U PHERADIE (BX) nteger vt (i3 FERET
= FRERH CEITENEBRYET, R 7 1
1 BETued TR | EELEALE 167 0 | UWEEEADE BN | R | - Iteger | 2byie | — |0~ 4005 (5%3) SRLEc L
1: FRRERE -
o g OCREMKAP | GX3T2M(K)AP | GX31BMK)AP | GX3M(K)AP TRER GED): IREERIA LIRISE L /=158 3 RAME (181071h) TEIE L BYET .
GX-308ML(K)-A-P | GX-312ML(K)-A-P | GX-318ML(K)}-A-P | GX-330ML(K}-A-P SFE— N EHModel E = [EMode3 D GE2): ZEE— FhModel. Mode3MIBE . BIAHIEIE L REMAOHE DA TRILIRET 5 C EANTHETT.
= 2 & & COM3(230.4Kbps) 5@;&_5&3&'&&:‘ 0&2;5 ﬁE& BYES, GE3): £UYRERE (C) ~OEBRFIRATIT>TL S, (B YREREAD) / 10) - 1725
7= : &
BN A 1B ESTRAE N
L8 4 L 0.4ms ERTE B 1 R e
J B £ 2 A0, EEPROM O1E$RA £ EIEATAE
7 — 4 E 2byte BERTHERTTERVRETH S PEOTS T5— -
% 0% . ~l g K & - %
~ > 10D 834(0x0342) BE @R ;0;;;3?&:73 Qg AU 5 LRI ® AE - x5
7 /84 A 1D| 0x70000 0x70001 | 0x70002 0x70003 1:T5— 0x1800 RERaRE gy | RHILOEGRELYABIAEL TR AR | XY EBREMLTESD. RENBRT 5HER V%
X - T | rmYET. ZBRLTEEL,
TUYRBON—FI T TICRENFEE I0-Link@BE CHEERAFNRE (V—EXT— P T e P
e e > ez _mE a -| ETE 5% T—8) 12 | YRT LAY FORENREERTL REBEEDMEL TS
REEm |5 FRCRRBIIESEAOL 06320 | YoERT-SRE | BR | RmassgelToEd, EEL, $—ERXF—R0( Ty o R2EBBIEEL,
0:EE 0x8CA0 BHEGAR E% RERREDEHATT EET ‘ BANEER BRERREHR L MEERBELTIESL.
1:T5—
-
A AT (SD)
s A —
= o= Ryy7v7 = [ ® froun [
AVTIIR|FTLTIIR B B RW 2 TA—Xv | T4RK | PHE BERNE HE on Rl BRirHEE
Q i g ONF 4 LA NO. oo
0 X B LY bIRSA—ER—T1 |RIW - Record 16byte — on
- = A A — — — — NC.
1 B LY IS A—ER 16byte _ RER OFF . _— .
2 SRFLATUER w - Ulnteger 1byte 0x82 : REMHIL BEE—F | BIFE—F s it il BEE
3 FoBALL—Y RW| —  [Record |- - = it — Prop— 1 ey
. N B 0x0000: By 7% L - oN 1 — I E]_
12 TNART7£ZABYY RwW Ulnteger 2byte 0x0000 | 5/ 5002 - FlBZFL—Snvs OFFT 1 LA NOL e o - 1 i |
16 N8 R — String 20byte — — Panasonic Industry NC. ggF ; | (%) 100 & 2 9
18 Jagy 4 R — String 25byte — — XL peo——
19 Jo%y kD R - [sting 25byte - |- R P — Worra | .
20 Jogy b TER R R - String 40byte - - Proximity Sensor 9usay k wo. ON 1 D 61 0x00) [ EEEEE 0 eor bio)
ASCIIZ— K8 o —T—
21 0 SYTINF R~ R - String 16byte - |- = T11000000~ NC o o NG | T
11FFFFFFO8byte sroan I it
22 0 N—KEHz7NR—Tay R - String 4byte - |- T: & A 2 (0~16383ms) o T
23 0 I7—LIIFNR—=U3Y R - String 4byte - - - o, 1 RmEmH
PACrES
24 0 FIVr—avie Yy RIW [¢] String 32byte o R 65000 o (PO1BIE)
0x00 : IE% 1 amaes
36 0 FINA RIRTE R - Ulnteger 1byte - 0x01 : iBiEif ModeT
0x04 : NERSIE - Erarel ] ; (T;r?fm
37 16 T3 REHBREE R Record 18byte - - P |
H H (PD1_bit5)
40 0 TOERTF—BA 2Ty k R Record 2byte [ - — — : ‘w%ﬁ'
ode: [ R
S 0x00:NO (/ —%LA—T>) (%92 o (PDbis)
61 1 FIEH D1 BEE— FEIE RW @] Ulnteger 1byte 0X00 | 0101 'NC (/ —2 L5 B—2) 163 0x02) °
63 1 HIEE N2BEE— FYIE RW| O |Uinteger |1byte — = F# - — o :;;:;:
gxg? ; gil\?]" LA 524 o™ o (PD1_bitd)
. e x01: ONF 1 < 1B
o 1 HEEA1ZARE—FEE  |[RW| O  |Unteger |1byte 000 | X P o 4o % I NN
0x03: 73y b4
2 HEHE D152 4 TBEREE RIW (e} Ulnteger 2byte 0x0005 |0 ~ 16383 (Unit: 1ms)
66 1 HEH D258 4 T E— R RIW [e) Ulnteger 1byte - - FH N “
2 |[m@mnosA<EMEE  [RW| O |Ulnteger |2byte - |- 8 INFTI T A9 AN —¥att
160 0 ZiErsha R - Ulnteger 3byte — 0~ 13;071 (Unit: 1h) GE1) T571-8506 ABRFIFIEMATFIE 10065
900 '1"6?5 https://industry.panasonic.com/
901 - 10ms _ <FAT\A REAERE0>
161 0 |FEERHONF(LA44% |[RW| O |Unteger |ibyte 0x04 [0x03 : 100ms o TEL : 0120-394-205
904 - 300ms SR - FHO~ 128, 138~178
006 - 1000ms (EBHRB. FXRFH. SHREEZRL)
Panasonic Industry Co., Ltd. 2024
2024F4AB AT PRINTED IN CHINA
- @ ﬂ PROCESS DATA(PD) Index Sub-Index Name R/W B(e;cr;;p Format Length ?/Zfli‘;" Range Remark
Panasonic  INSTRUCTION MANUAL o 500" Disae
0x01 : Mode1(Instability Detec-
7 [ 6 [ 5 ] 4 [ 3 [ 271170 ‘
. tion/Target Too Close Alarm "
- " . . . ) The bit of relevant
GX-300 Series INDEX LIST PDO | Monitor Output 8bit. The sensing data are output as eight bits(0-255) 163 o Diagnosis Mode RIW o Ulnteger 1byte 0x01 Enable ) . process data be-
. 0x02 : Mode2 ( Instability Detec- comes effective.
e I0-Link o tion Alarm Enable) :
- Assignment Details 0x03 : Mode3 (Target Too Close
bit Alarm Enable)
T[T comoronmers 2.7 o oo
. . . : : o
10-Link setting file (IODD) can be downloaded from — o 0x02 - Iron 30%
our website ( https://industry.panasonic.com/ ). e Excessive proximity judgment 003 : SUS 10%
Fixed 0 164 0 distance setting R/W (o] Ulnteger 1byte 0x01 0x04 - SUS 20% (Note2)
Fixed 0 0x05 : SUS 30%
0x06 : Aluminum 10%
n PHYS'CAL LAYER If you set the Diagnosis Mode on Mode1 0x07 : Aluminum 20"/:
Instability Detec- | or Mode2, this bit becomes valid. AD value of sensor's inter-nal
Model No GX-308M(K)-A-P ‘ GX-312M(K)-A-P ‘ GX-318M(K)-A-P ‘ GX-330M(K)-A-P tion Alarm 0: Stable 165 0 temperature ( Present ) R = Integer 2byte - 0 ~ 4095 (Note3)
: GX-308ML(K}A-P | GX-312ML(KFAP | GX-318ML(K-AP | GX-330MLK)-AP 1: Unstable : it start p (Tom
Baud rate COMB3(230.4kbps) If you set the Diagnosis Mode on Mode1 166 0 AD value of sensors infer-nal | g - Integer | 2byte —  |0~4095 (Note3) ON) the sensor
Minimum oydle odme Targe;ltoo Close gr.l\godt:& this bit becomes valid. emperature ( Max ) again, data is reset
time i e 1 : T;?J c‘leose AD value of sensor's inter-nal If start up (Turn
Process data 2 . 167 0 P " Mi R - Integer 2byte - 0 ~ 4095 (Note3) ON) the sensor
yte . - emperature ( Min ) in. data i
length Diagnostic output when the sensor cannot again, data is reset
Vendor ID 834(0x0342) Fault ?:Cr;g:‘:scﬁ"aes'zt'g; dd::otr? :I‘m';f‘;"re;a;;'re (Note1):The timer range is fixed on maximum value(131071h) if it's reached upper limit.
Device ID 0x70000 0x70001 ‘ 0x70002 0x70003 (Minor error) | vice data error B h (Note2): When diagnosis mode is selected mode1 or mode3, it's possible by a combination of the excessive proximity judgment distance and the material of the sensing object to check over approach.
0 : Normal (Note3): Change from AD value of sensor’s internal temperature (°C)  to the internal temperature of sensor by following equation. (( AD value of sensor’s Internal temperature) / 10) - 172.5
1: Error
A EVENT FUNCTION
Diagnostic output when the sensor has an
Fault internal error and replacement is needed Event .
(Fatal error) 0 : Normal Code Event code Error level State Action
1+ Error 0x1800 Breakdown Error The sensor might be broken internally, such as discon- | Start up (turn ON) the sensor again, If the error occurs again,
nection of the detection coil. replace the sensor.
E SERVICE DATA SD 0x6320 Parameter error Error Inconsistency has occurred on the settings (service Execute the system command to “ Restore the factory settings*
( ) data) written in by the 10-Link communications. to initialize the settings. Refer to index 2 of service data.
The distance between the . N N~ . .
Back up Default Target too close . . Information notifica- | After confirming the installation state of the sensor, please
Index Subvindex Name RW target Format Length value Range Remark 0x8CAO Alarm Normal f:g?;lzzg the sensing object | o) adjust the location of the sensor and the sensing object.
0 RS Direct Parameter Page 1 R/W - Record 16byte -
1 X% Direct Parameter Page 2 — — — 16byte — Unused
2 0 System Command i — Ulnteger 1byte 0x82 : Restore Factory Settings E TI M ER FU N CTION E TI M I N G C HART
3 * Data Storage RW - Record - - -
. 0x0000 : Unlocked
12 0 Device Access Locks Riw - Ulnteger 2byte | 0X0000 | 1002 * Data Storage Locked Sensingobject  Present Set posiion Excessive proximilyjudgment distance
16 0 Vendor Name R - String 20byte - - Panasonic Industry NUO‘:'EW: —iT— Non- netab)
18 0 Product Name R - String 25byte — |- Model No. On-deley NO o o sonis on ey
19 0 Product ID R - String 25byte - |- Model No. NC. SEF ; 1 oo | o
20 0 Product Text R - String 40byte - - Proximity Sensor Vode ele . PR i
onsng ] 1
i _ ; R 11000000~ EEE I : E_
21 0 Serial Number R String 16byte 11FFFFFF (ASCID) ‘ o i - 2
22 0 Hardware Version R - String 4byte - - Sensing object mzm: ]
. Rated Sensing cistance
23 0 Firmware Version R — String 4byte — — ON 1 —iT— ) -
OFF-dele NO. (Indox61 0:00)
24 0 Application Specific Tag RIW [¢) String 32byte | “**" |Optional Y o ——— : e _ R 5 eor o)
0x00 : Operating properly NC O o
36 0 Device Status R - Ulnteger 1byte - 0x01 : Over approaching s oon| Control
0x04 : Breakdown E— o Outpul1(PD1_bi)
37 1-6 Detailed Device Status R Record 18byte - - o = Disabie T —
40 0 Process Data Input R Record 2byte - - Sensing object Nngr o oo
L ver approac
Control output1 0x00 : NO (Normally Open) ON 1 L 0_OulpullPD1 bit5)
61 ! Switchpoint logic RW| O Ulnteger | tbyte | 0x00 |11 " NC (Normally Close) One shot NO ok o —D—Aﬁ—, — = Mo - T
Control output2 - Reserved Nne, ON T i i i 1 Over approach
63 1 Switchpoint logic RW (0] Ulnteger 1byte 0x01 OFF 0 _ _ ] ? 3:::;”‘ sy
0x00 : Disable . o OupuPo1 ot
i 0x01: ON Delay T : Timer time (0~ 16383ms) ! Over approscn
5 1 Control output1 (Timer Mode) | R/W ] Ulnteger 1byte 0x00 0x02 : OFF Delay — — 'i Sn;“’a::‘:;;‘;‘nj
0x03 : One Shot o Oulpul(PD1_bitd)
2 Control output1 (Timer Time) | RIW [¢) Ulnteger 2byte | 0x0005 |0 ~ 16383 (Unit: 1ms) I
66 1 Control output2 (Timer Mode) R/W O Ulnteger 1byte 0x00 — Reserved
2 Control output2 (Timer Time) R/W O Ulnteger 2byte 0x0005 |— Reserved
160 0 Operating Hours R - Ulnteger 3byte - 0 ~ 131071 (Unit: 1h)(Note 1) .
0x00 : Disabl
Panasonic Industry Co., Ltd.
" 0x02 : 50ms i i 1006, Oaza Kadoma, Kadoma-shi, Osaka 571-8506, Japan
161 0 ?s‘ab”"y Alarm ON Delay rRW| O Ulnteger | 1byte | 0x04 |0x03:100ms Applied ‘3 bit4 of : : P
imer 0x04 - 300ms process data. https://industry.panasonic.com/
0x05::500ms Please visit our website for inquiries and about our sales network.
0x06 : 1000ms

Panasonic Industry Co., Ltd. 2024
April, 2024 PRINTED IN CHINA



